H. able saecs

0 [0362] ol =2 AHA|

pe it

ol

HOIEE L 2

HEERRMEIE |

ZHIHELH = &M

HZIHES

JEHHHZ

OIZ2H 7 Ets= 2

=z

F

gl
H == 7NEH

f

2 =3 ASLICH

H o+, proxef o

EHELR ARBsHALE elE0| Tts

2 ojofFE Al

i=

2 ALESHR] 22 3%

i=

S oo Z Ao =

{2
o= F2A] ofoj

2 20%).

20%, o

32 (x

=20
S5

15%), 40%

0ol

(s 15%, of

==
=N

ol A A 2|

2 L
S =

S Al AL

H|
olz=2 X
o T, o

4

A

2of
2

=L
80%

=4

7t
9| 70%

o
Es

9|

:"Ln_‘l

Z|ofjo

=2 Exle
=, FA 7

2e|

=

S

CC =
o el

7t

=
o

| 2% 71




H. able ezo=s

ool =24 2f 50%

=n o
S= =

R
Q
o
S

SAtd| 2

s

=2l 40%E

Z=2 ojoj

(8Xtd] 20| 60%

F Ao H 2

[
=

=0[Lt

=
=

2 24 d557] 2o

b

A =

5|

0| 27t

fof stAHLt &

5

= doll Fotz gHE

A|e[go| o|g

I 8Azte| HEF

ekl

t

7

b

=90

2 24 d5=7| 2ol E50|

ol =20l A ol ZH|

tol SHE2=

)

2 =tz tertz gt

4

AtStHE F2 Al ook =4 2] 100%

oj 2

e X|

FRHZAIVX] SHEZ

A5}

A
To

=L

CcC
ol

=2
S

FEFE O

LNESY

i HEFAHES

9

= %ol of

A=

* fgzol Held

=F 20| HZ

19 H=MZFAq (2, HMAZ) S i3 Al

=t 4

SH(AE A LEA|

210l

S

o 58

N _
= e F7

EA|

7ts kol ool A=

=2
=]

Jtsad 2ot o350 2 29 MAt

MALE

L

ooy




tof ofl =Foll A

SR
T =0

%o
g el ZHIITE S

A

M

= Ol Xtz
o
=

sflof st
fokst= H

staeol 73

st ojmf F=

x|
o
S
o
=
i
8

onl
T F
K <
in o
X
N

SAt
1=

z
EL]

Ex &
ES
/HE

| 7|0l A=

3

HZ7
=2
S

1

2|
=

OH
oH
7ts,
g AKX ERt=ThH| RHE

!

Hell Al
7tst 2
[=3—]
S=

1
=
|

=
=

o

A2 RE s AEE L7

72

3

E=
’?_-l
=
£
A SF+HEF)
A
o

CC =
=
=
SHatE8At
=
S

|88 xt

ol =

T4

(77t

Ol = Zo| M

i
7 (oH = A

Z
2

A
Al
o
=
=
s §

ol

e
AL
A
CC =
=
e

oj =i

(BAHHES) X HERAH|E)HFTLs

A
S| A} 2l
QIELRION 7| R SR

3

PO/ oAt EHES

(A2
» 7| EfChoi 2
i
*CMA O3

H. able ezo=s




